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Enrichment and Extension

e can you buy a ruer that is three feet B@ng?.

, =4-d 2, —10e + 15 = 95 — 30e
L d=% e=4
| | 3 ‘ _ -

3. 15¢+17 = 13t + 14 4. -12-qg=4a-7
tz-\.f) | 2= ~)
da-16=a-15 6. 4y +12 = 6y + 12
| \

=z | 3=0
0257 — 025+ 0257 = 05025 8. —da+7=a+32
V= ) o a_“f; -

6. 135 —31 =25 -9 0. a+125=2a -1

D=2 | 7 A= .S
M. M+ 4+L=13+4 | |

R=D

Solution | "
Variable o
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Name

Date

5. 16(p —2)=Tp+4 p;%
7.030-2)=04 L G

9. Describe and correct the error in
solving the equation.

Solve the equation.

10. 42x — 3 = 0.5(8.4x + 6)

no Soluhon

1.5(6 ~ 2x) = 3x = 9
R

—3(x + 5) = —(3x +15)

.\‘\Q\Y\'\*ﬁ\\j W‘\B-‘N/)

12.

14.

18.

original price of the necklace.

Big ldeas Math Biue
Resources by Chapter

18

The original price p for a necklace is the same at both jewelry stores. At
Store A, the sale price is 60% of the original price. Last month, at Store B
the sale price was $40 less than the original price. This month, Store B is
selling the necklace for 80% of last month’s reduced price. The current sale

prices are the.same for both stores. Write and solve an equation to find the

o CJ"\ ‘F e : vy
Surkoce aree %& dof_o g@ﬁ h tace @

Ve lurmd. = len S«\«h w tar 1 Cly % QW“"“‘”

ace area is equal to the value of the solid’s

| r]: 37 ¥ B2 Y4 U A BX
il 2.

. | 4+ 2w = 32%

22;304,3,4 » 2% 4 0% 104 = gy = o4

10 in. 3in O* Z,(g%ﬁ.?i)‘}i '
Xz b0
- Solve the equation. Check your solution.
4 2 -
3. ‘Sy—14—2y—2£ 5:,'-& 4. 7m-18-7m =20

g 42s-3)=3G:+1) 3D 3

2 12 22
8 "é'ﬂ'*‘g—“é‘(ﬂ'l’??) Y‘\"‘" Wga-
N 0dx = 02(x = 8) | didn'¥ At tbute
gix - 0268 | 4o 4y Do sermS
2x = -8
x = —40 :
11. —2—x+1=%x.-1 ,
A0 Sttt O
13. lx—5 EEx—S
2 VO

: —-12—3c+1~12~ =—12—(3—x)
'\r\ghi‘\f\kj W\&V\(T

4O)
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- Score ;

Date :

{
2) b-2% = 38
4“‘2&5 +2l5
b= 4.3

Solve the Equations

6) -5 = 29+¢c
-4 "4

C=-1.9

7) 318 =-53d

-5,.3 -3
B

T

10) -354 = %éy
5.9 94

>,
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Name : ‘ Score :

Teacher: Date : |
Solve the Equat:ons
Round your answers to the nearest hundredth if needed.
ALY 6) -2f+2n=7
6 ‘ + 27 +72
V= - 5:{ '
14 4 | _E}-N%"‘”’"2§ Cf:/{:
= =HO >0 A
N =336 oV B
2%3'~2\6;b =19.23 775t 2 25, -4
. 3 _{ N on, ! 5
v 2h e L
3o b= 437 Sy AR
- (0 e LCQ _ N -“é"ww}. 2 % bﬁ
T (€= -25"
9 ' ‘ 2-r
27+ ~ 9 = 15, =|
3)‘% S | B = 15 -l
%ﬂ Fa= - {;,g'?,;w\ oy = uﬁ 5
) - - YT D e si? !
§ é\—a 8 "””Wv%«la’) | k (C) /
mmmw i (\\W
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